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int epoll_fd = epoll_createl(0);
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struct epoll_event ev;
ev.events = EPOLLIN;
ev.data.fd = some_£fd;

epoll_ctl(epoll_fd, EPOLL_CTL_ADD, some_fd, &ev);
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[] EPOLLIN: iyl sl 830z .5ely )
[] EPOLLOUT: ol .50 ) )
[] EPOLLERR: &z .ibg
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struct epoll_event events[MAX_EVENTS];

int nfds = epoll_wait(epoll_fd, events, MAX_EVENTS, -1);
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for (int i = 0; i < nfds; i++) {

if (events[i].events & EPOLLIN) {

[ ssze op Joz events alsgoulo olgJae )l 8gsboall Joa] events il .events & EPOLLIN] s oo gog -8 ]lg )l
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epoll_ctl(epoll_fd, EPOLL_CTL_DEL, some_fd, NULL);

[ Jssees Jgoges olglgs )l gp EPOLL_CTL_MOD:



ev.events = EPOLLOUT; //
epoll_ctl(epoll_fd, EPOLL_CTL_MOD, some_fd, &ev);
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fentl(fd, F_SETFL, fcntl(fd, F_GETFL) | O_NONBLOCK) ;

Jlop palg odl bgues

o Jlosp guulul 832 pag e epoll Jgogo] olllpeollsslels olplsodl sl elpe ! p3gooas 8028 tooo sopepll up
Jzl-8Js0ua !

#include <sys/epoll.h>
#include <sys/socket.h>
#include <netinet/in.h>
#include <fcntl.h>
#include <unistd.h>
#include <stdio.h>
#include <stdlib.h>

#include <errno.h>

#define MAX_EVENTS 10

#define PORT 8080



int main() {

/7
int listen_fd = socket (AF_INET, SOCK_STREAM, 0);

if (listen_fd == -1) { perror("socket"); exit(1l); }

struct sockaddr_in addr = { .sin_family = AF_INET, .sin_addr.s_addr = INADDR_ANY, .sin_port = htons(PORT)

if (bind(listen_fd, (struct sockaddr*)&addr, sizeof(addr)) == -1) { perror("bind"); exit(l); }
if (listen(listen_fd, 5) == -1) { perror("listen"); exit(1); }
//

fcntl(listen_fd, F_SETFL, fcntl(listen_fd, F_GETFL) | O_NONBLOCK) ;

/7 “epoll”
int epoll_fd = epoll_createl(0);

if (epoll_fd == -1) { perror("epoll_createl"); exit(1); }

/7 “epoll”

struct epoll_event ev, events[MAX_EVENTS];
ev.events = EPOLLIN; //

ev.data.fd = listen_fd;

if (epoll_ctl(epoll_fd, EPOLL_CTL_ADD, listen_fd, &ev) == -1) { perror("epoll_ctl"); exit(1); 7

//
while (1) {
int nfds = epoll_wait(epoll_fd, events, MAX_EVENTS, -1);

if (nfds == -1) { perror("epoll wait"); exit(1); }

for (int i 0; i < nfds; i++) {

int fd = events[i] .data.fd;

if (fd == listen_fd) {
/7
int client_fd = accept(listen_fd, NULL, NULL);

if (client_fd == -1) { perror("accept"); continue; }

//
fentl(client fd, F_SETFL, fentl(client_fd, F_GETFL) | O_NONBLOCK) ;

/7 ‘epoll”

ev.events = EPOLLIN;



ev.data.fd = client_£d;

if (epoll_ctl(epoll_fd, EPOLL_CTL_ADD, client_fd, &ev) == -1) {
perror("epoll_ctl: client_£fd");
close(client_£d);

}

} else {

/7

char buf[1024];

ssize_t n = read(fd, buf, sizeof (buf));

if (n <= 0) {

// : “epoll”
if (n == -1 && (errno == EAGAIN || errno == EWOULDBLOCK)) continue;
close(fd);

epoll_ctl(epoll_fd, EPOLL_CTL_DEL, fd, NULL);
} else {

//

write(fd, buf, n); // :

close(epoll_fd);
close(listen_fd);

return O;
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